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2/2 Upjowwnwmpikph nkuwfukpp b whjubnudp 2/U | Lmbmy h qhp pununikp
1 2 3 4 5 6
1. Upwniuipht jniumnpmpjub guilig
1 Upmmphh Intuwgnpnipyumb ubnigdwh b nEwdupdul up.uhmpmh — 1 51874 51874
Wiphwomgyws dnnnnkkng 3804, 32U
2 | bpyuwlwuqiught hwpdhy 3809 ,50 [nul. 1 29750 29750
V Y | 3 |Uknwnulwi wplyy hupghsh nkqunpdub hwdwp noiiwlngd Yaqubpnyd | hun 1 6800 6800
4 |{Uduinduwn wbgunhy 3804, 320 huin 1 6200 6200
5 |[Unju dtnwunujub hfbuuywb weyudninnudnd 1=5,04 nwy. 1 3200 3200
6 |Upwnwpht jnruwnpdut dbvmnuljut hkiwumb L=6,00 @=80 1puly. 1 * 22000 22000
7 |Mwuwnjub wyanuuunk unnnjuyhg @121dd, 1 huin u 1,0 4000 4000
8 |Puipduly (P47x4uUd L=3u) hunn 15 16500 247500
9 Uwniju wpnudhik ohnbpny, dkjniuugyud hwnjwspp wknunpnuinyg d ' 555.0 710 394050
4x16Uu?2 BOp
10 {Utwnwnuiwul &nyut ®6UU (Tpoc) u 580,0 680 394400
11 |Lugbwl wilnibul gguénntpnyg 50x50x5Uu (L=400Ud) hwwn 15 1900 28500
12 |Uhnwunuinywih wdpuy (openrk) huwn 30 90 2700
13 |Uklniupsy 0,44 hunn 30 490 14700
14 |Qqhuwunhp hunn 30 190 5700
15 |Uknuul huwn 30 100 3000
16 |Upwwupht jnruuynpuiui jniuwpdwy PKY 01-250 hwwn 15 18200 273000
| 17 verenhoufughl punky huwn |15 2900 43500
) JHaT-250
18 {Unup (xomyT) hunn 30 300 9000
19 |Ukwnun g | 300 410 12300
20 Zunnppupup wynwhib UEimuwgdus, hwndwspp 2,502 AITB d 120.0 260 31200
Uwhthoh
21 |Chpnudnp wonuun 25x4 mknunpnidny u 5,0 630 3150
22 |Mnuyun wiynibughl 50x50x5Ud, L=2.50 wnkqunpnidnyg hunn 1 5700 5700
23 |2kbwujwb tkpynud phinnudughln jupny ? 0,3 520 156
24 | Zkbwupub tkpynud Bduyny 2 okpn U2 1,3 850 1105
25 |Fupdwlubph ubpymd Bdugny 2 pkpin u? 7,2 850 6120
26 {Fhwnn B1S quiup U 0,3 31500 9430
27 |®nunpuljh pugnud hkuwujwl hhdph hwdwp >3 0,5 3200 1600
28 |puunugnt putnnud hoquigdwt inknugpunt hwdwp us 2,0 3200 6400
29 |vpwunignt knjhgp hnquugdwl wknunpint hudwp u? 2,0 930 1860
30 |Udtgnly gpniinh mbnuthnfumd us 0,3 5000 1500
funudkip ! 1620415
Cuwhnyp 10% 162041,5
Chpundklp 1782456,5
‘ UUZ 20% 356491,3
| |Cugundtip 2138948
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w
r e ¢ Lwliwly Qnulwp Lutiuy Snuluip
1 2 3 4 5 6 7 8 9 10
1. Ugunbhunwddwl b pubpdwl wpjuunwlbplbp
; [Uwuinbinwdty hhl plinnthg qpuipwptpe | 50 | 4000 | 0,861 34,447 40 34,447 40,00 34,447
hhupkph hkwn Jhwuht
9 Uywinuwnwdb) Ynjnunnt pnigh 1216 .
yunhwphstbpp hunn 5 ’ 6,079 5 6,079 5 6,079
Uywintnwdt] hht wudwinpkinnuk
3 [swdynyph pupap hunnywalbpp b=8ud - e 480 | 3749 17,993 48 17,993 4,280 17,993
60.0012
4 |Ahufpbph thopnud IV juipgh gpnitunbibpnut B 40 3,850 15,400 4 15,400 40 15,409
bgpwpwpkp nknunpbint hunfwp
5 |ohlu wnpp pupdaul U ntnuibafunud 4 @ | 103 | 4134 42576 10,3 42576 10,3 42576
hinwdnpnippub ypw
2. Chhwpwpwlpmh woluunnwlbpbép
Puquunk Equupuipbph nknunpoud 100x250
1 |ud zu_u_bhpl'\ phmnhh hhuph Lhn,u (B15 r}ulub) U 80,0 8,004 640,304 80 640,304 80,0 640,304
2 |u&wjhl okpunh hpwlwbwgnud h=10ud U? 600,0 1,104 662,593 600 662,593 600,0 662,593
3 |Vwbpwhunhl wubwpnaptinbl Swdlinuph |2 | 6000 | 2,504 1556,182 600 1556,182 | 6000 | 1556,182
hpwlwliwgnud (b=40u)
4 |Wumuntunwdywd hnynunt poigh hun | 4 2,269 9,078 4 9,078 4 9,078
Yuithwphybpp yepwnbnwnnk)
5 [unn pnigh unhwphelt nbnunpoud hwitn 1 54,831 54,831 " 54,831 1 54,831
owpnqyuish thnhuwpkl
Chnudtup 3039,483 3039,483 3039,483
YEpunpp Swpiukp 13.3%| 404,251 404,251 404,251
W& ] 3443,734 3443,734 3443,734
Cwhnyp 11%| 378,811 378,811 378,811
ChnudElp 3822,545 3822,545 3822,545
Utz 20% 764,509 764,509 764,509
ClhnuwdElp 4587,054 4587,054 4587,054
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i Uhunjnp Cunudkup
Ugluumnuipibph wijuinudp AU Lubwly ahtip 2wquip npad
ulihph b[gzﬁnu[mgwgz[wiz wpfuunnuliplilin
utthph swélh pubnmy wupnohdbiphg/hujupudwudnyg/ 10042 1,05 15,91 19,310
thnpywbth wyywdntinwdnd ‘ 100d2| 0,45 66,10 32,830
riwnph pupd hiphwpwith Ukpkiw dkjuwihquny 100043| 0,03 £25,01 15,750
aquithnfuncd Uhtisl 5 Yd nl 16,00 1,44 23,040
juhp
ubhph dwblh Yunnignud wpnd. g. phplinhg 4N-35-0,55 hwuwn 10002 | 0,90 334,94 301,446
wywpunfws, snpunt 50x50UU u3 0,45 162,41 73,085
uwnwudnunh whqugpod - ' huwn | 2,00 67,30 | 134,600
1Whwyun 0,554 huwuwnnippul phpetnhg h=2,54 d=100ud 4,00 45,32 181,280
phnprwith junnignud 0,55Ud hwuwnnipjudp hwppe ghijuujun
hpr&}l 100d 0,45 436,37 196,367
aptnng o
wquplugsh Junnignud g/phplinhg 0,55Ud 100d2| 0,12 |- 297,87 35,744
ulthph thwjunyw yntunpniyghwiibph junnignud Aduppuly, jubgul, 03 155 201,43 312,217
untkppuin, ququplugdh nuunwluniwd/
uithph thuunyu Yntunpniyghwitph tinjuwphtnud /Swypuygnpn, 3 0,30 201,43 60,429
ubquuly, Ywpnuly, dw knlimnup/
Upwl /&mm[ulhr}/(DSJII n 0,01 310,73 3,107
wbnuwnnpkph unlpuuynud wknunping pwphupelikphg /4dd g 4,50 0,29 1.305
krnunulwl jupny/
utihph thupnk Yntunpnighwtibph hpuywonywinipntl u3 2,30 9,04 20,792
nithph Yurjwpuwdh b pphnpguitth hpuwwwyuwwbnipeinil 100u2] 095 | 28,19 26,781
; ]]mﬂ‘mjulbh L ophnpyuitih dswljnud hwwbikuhy nipny 1042 ., 9,50 3,63 34,485
byl ' : 1472,568
hpmth bmluuhp 13,30% 79.5, 852
byudkhp 1668,419
awhnyp - 11% 183,526
‘hpuilkip 1851,946
w2 -20% 370,389
hpwdklm 2222335
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TuwwwGpGtp
2 Upuunnviiphbph whwhnudp ofr | Subwy Ugi‘;};‘“ Zu‘i‘;‘}u“l‘l‘ﬁg ’
Lwhnuul wohnunwlplkp
Uhgunpuubiph pulgnid 100ud u? 45,6 0,10 4,56
Tukgbuwik b g/w hunnwlubkph pwimnud u? 78,0 0,15 11,70
Munbph Yepudhjulwb uuybph b quok ujunh pwimgmu uz 80,0 0,15 12,00
Apitkph U ywwnnthwiiibph wejudninwdmy u? 47,0 0,05 2,35
_ ;‘.u;hph quiok ujunh dwubmbh pubnnud 2 10,6 0,14 1,45
‘Aunbph b wowuwnwnh bkphh dwppnid u? 149,40 0,10 14,94
3-nn hupgh gpniinnh dpwnud dknpny u 5,00 0,10 0,50
Pulh Ununph phwnnbb hwppwlh Sud gkpunh pubpmd wuwnh&wiiph o 0.42 0.10 0.04
hbwn dhwuhl : " ’ ’
Ghit wnph pupdnud b wknwihnunud 4 Yu . n 28,5 0,10 2,85
‘Unpnquuit woluunnwputp
Uhstwymukp 2000 hwwnmppup whiqupinbh pwpquidpnyg w 17,0 15,30 259,64
__| Ulgpbph phuntugnud B12,5 quuh plwnnting 2 4,0 33,77 135,08
- [Undpmi 12All wn 0,1 1,00 0,06
Unlput 6AI n 0,06 1,00 0,06
Uhwany W/p pupuynpliph wwwnpuunnd B15 nuuh plnntihg us 0,89 1,00 0,89
Ualpwh 12All n 0,08 1,00 0,08
Undput 6Al n 0,03 1,00 0,03
i |Mwwnbph g/w wjuy bkpuh Ynguhg u? 55,7 1,97 v 109,73
i |Munkph qugk ujwn pupdp npuyh 2 148,0 1,08 159,10
) |[3nutkph b ywnnthwibibph okwbph qugk ujwy u? 17,20 2,79 47,99
1_[Nunnbph Wphmd juinkipuuyhlt ulpyny u? 195,8 1,39 272,16
) ahwlingh, (ugpwnub, pnidubiyuyh wunnbph kpbuwyunmd :
2 l%hpuu[}ﬂlulllmh uukpny 1,5 1f pupdpnipjudp e 41,0 £.97 244,17
3 Uwbhwhgnygh hughyh kpbutigunmd YEpwuhjulub vwikpny 2,44 2 14,7 5.97 87,76
pupdpnipjudp
4 | Nuwnkph g/w ujwr d=4ud,poton 100* 100U gutigny npuh Ynnuhg U2 106 2.4 254,40
5 |Ynygwwwquyhh okpn fawjgwdph hudwp /H=12ud u3 3,60 3,88 13,97
5 |UwyJuéph kqpnud B15uhwdmy) plininbh hpujwiwgnud u3 1,92 8,00 15,36
7 [Uwpusph hpwlwbwgnid B15 dhwdnuy phwnntihg H=6 ud u3 1,70 24,79 42 .14
8 [Zwppwlh Ephuwyunnud 30 1 hwunmpjuudp puquink vuybpny u? 11,60 7,04 81,66
__|Lhpuwdkip :
* Zunnuiliikp _ :
Phwnnlk hux[\luxuimmpmumulﬁmh >hipnh hpwjwiugnud B 12,5 nuuh u3 7,05 4238 228,28
' | 2wwnwltkph U gniqupwitiuhegbph g/w ujun hupplglng okpn u? 70,50 1,54 108,57
3 | zwwnwlukph jurenignud jukgkuwihg U2 70,50 5,94 418,77
t |ophowlubkph hpujwbwgnud Yhpudhjulwl uuwybpny 10 ud 2 8,50 6,36 54,06
| coguwutip
Unpwuwnuwy
| Upwupwnh quiok ujuy U2 34,00 2,41 81,94
Ywjunyh wpwumwnh ullum'numumufw/wuwz[wub fyniphg N 2.60 '5’04 13.10
fu/huligniig
| Upwgnunh bbploud junnkpuuypl Bkphny €@ | 67,90 1,70 115,43
| cguuttp
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bk, unnnihwhbkph whknunpoid |
_pnunuiwi gpub goiikph nbknunpnud u? 3,78 67,70 255,91
{Uknunuyjuunk poikph wkgugpod U2 12,81 35,50 454,76
Uknunuujuunk goibph $pudniguw wywhbthupteny u? 2,20 21,70 47,74
_ | Chpudtiip
) Quunpnrhwhbbkp
Ubnwnuujuunt wuwnnthwbbbph wknugpoud pugynn U2 4,91 27,05 132,82
' |Ubnwnuyuunk yunnthwbibph wkywugpoud spugynng u2 12,81 18,25 233,78
} |Uknwnuuwunt wunnthwih popg thwljul hwwn 2,90 9,22 18,44
b [Munmbhwiwgngbph nkqugpnud 25 wd juytinipjudp uyhwwy ‘ qu 10,90 1,92 20,93
. 0,00
Owbling 0,00
I |Uugpkph swnuihnuf wuwnkph Uk @ 144 huwn | 12,00 0,10 1,20
) |Ukunuquljut jungrjulibpny dwélngh jupluuh dntiinmdmd n 0,11 0,10 0,01
3 150*30*2 unnnywhyh wpdbpp gsd | 21,80 0,10 2,18
I |50*30*2 fungnywlyh wpdkpp gl | 16,20 0,10 1,62
3 |ympky @ 12 Ud hunn | 12,00 0,10 1,20
n winp 4N 35-0,55 Ul ghiljuyun phplinny wnwhpwdwslh
' plﬁfﬁlﬁhmgiﬁ /qnqlngh Eubuwwuwnnudny / - 3.90 0.10 039
3 |2nqguingh hupp phplinh wpdbpp 0,544 u? 0,90 0,10 0,09
) [Uwip swdynypubph bhkuwwyunnnd 0,5¢d ghljwyuin phptinny uz 1,20 0,10 0,12
0 ‘?E\uquﬂ;mh dwubph Ukpynud 2x n 0,11 48,72 5,36
Cunudtup 3971,970
Cuwhnyp 8% 317,758
Cuguudkip 4289,727
UU2 20% * 857,945
: 5147,673
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wfuwwnwlpGtp
33 Upjuwinwpltiph tinkuwyltbnp L wodwhmdp MU Qu::llu UEL:(:I'?D plnwakbp
7 2 3 4 5 6
Pwdhh 1-1
Puwlnuwl wyfuwunwlplbn
1 [wpwiwpbnnGl Shplnpdltipp wwwdnGunwdt 6 2,1 4,27 8,97
UwwinGunwdt) lubigbuw)t L puiquiwnt uwitpny hwinwyp 2
2 hwpphliglnn 2Epunh htiwn tuhwuh g 52,0 0.25 13,00
3, [Mwnbiph dwppntd quigh ujunhg 6 | 1820 0,71 129,22
\é Urwuwnwnp Swppki gwsh ujwnhg : ¢ | 51,0 0,20 10,20
¥ [aptkph L wwuinnthwlph 26wtph queb ujwnh pwannid 6pYh 2
5 ) 11,2 0,40 4,48
, htun dhwuhl
6 |®uwynb wwunnthwGObph wwwinbunwdnid ' 2 | 12,50 1,45 18,13
7 (®wjnb nrObph wywinlbunwdnid 62 | 5,80 1,45 8,41
8 |®owjint wwwnnthwiwgngh wwwinGuwdntd g2 | 2,00 1,45 2,90
9 [Uryw dnitnwywynp pwquwitnhg pupt 2wpl wwywinbwwndt) 6 0,5 5,22 ( 2,61
10 |Ununph hwppwyttiph ptitinbt 26punG wuwwinOuwdt) 6 0,20 12,66 2,53
11 | Mwwnbiph pwithywé lunengOtpp dwppb ptiunGh dOwgnpnltinhg 6 04 5,24 2,10
12 {RPwlnty dnuinptiph hwppwyttph GpGuwwwnniibtpp 02 2,5 0,28 0,70
13 Pwlinti| hwppwyh L wuwnhswltph wybinpn ptitninbh § 0,50 12,35 6,18
hwwnywdébbpp
14 |chG. wnph pwpdnid L wnbnwthnfunud 1240 hee.ypw n 21,6 1,20 25,92
Pwdha 1-2
Chiwpwpwywl wpluwunwbpltp
1 MuwnnthwGbph 26wpl tnwyp npuh Ynndhg uQqulb_l 2 5.0 2,04 10.21
. gtiy/wywquiht pwnwiuny
))Zf Muwwnnthw(Gtph 2twp GGpup Yondhg ujunby gtv/wywquihl 2 15,5 156 2414
pwnuwiuny
3 [UnyGh étthwiwsyntd L jwwnb 2uwjhl Gbpyned 2 15,5 1,04 16,11
4 huwpwiwptiinnt uwhybtpny dhelnpuh Yuenignid, 10044 2 | 2550 278 70,81
hwuwnnipjwip
5 |UynuihG pwgnhpltnh wnbinwnpntd dnunph hwpphyh ypw 4 4,55 17.41 79,23
6 E.l_:ggn;g (wjuwwnbub) ytpwingpwbhunt 2phawytn h=10ud 2 3,52 8,05 28,33
Uwbunbuahywywb Iunqm{ujl.;iﬁbnn thwyty 2 1.20 0,001 0,001
ghyuwunywpwpnpny - :
8 |[Nunnpn wpndhy - pEpdnuwhy UW 50x40 qu 2,4 0,10 0,24
9 |<Gawyh wpndh CW 50x50 qud 9,0 0,86 7,78
10 B12,5 nwuh ptwnnGny dntinph wunh&wbGtpp L hwppwyp 5 0,50 56,21 28,11
1nugb
Untwnph hwppwyp b wutnhAwOtnp Gpiuwwunt) pwqunt 2 6.0 1249
) . 74,9
1 | ywiplyobpny b=3044 a 4,94
12 Uwwdnbunwdywo L pwithywg dntinph dnipunwywdnp pwquijnt 2 8,0 1527 ¢ 12216
puwipbpp pwpb]




2 [ 3 | 4 5 : 6
Pwdhb 1-3 1
10004 hwuwnnipjwip Shelnpiltp
fuwpwdwpbunbt pinyatiph wipwGwynpnid O12All, ,
1 nGunwdnuiny g | 97,30 0,10 9,73
fuwpwiwptinnbb piplatph wdpwOwynpnud ®6AI, ‘
2 dnGuwdniiny ‘ - lg | 9.99 0’1Q 1,00
3 |stukGunwywquih 2wnwfuh ppwywbwgntd 6 0,40 33,51 - 13,40
4 |luénis Uq 44 0,12 0,53
5 |cwnwthty wogptp wwwbph b Swdéwyh vk ©16  L=10004 hww | 40,0 0,001 0,04
100400 hwuwnnipjwdp GheGnpiGtph 4G9 pwpwynpObph wnknwnpntd
huwpwdwpbunnGb pinybtph wipwowynpnid @12All,
! | snGuinwdnuiny lg | 672 0,10 0,67
hwpwiwpbnnit pinyliiph wdpwlwynpnid ®6A, ,
2 SnGtnwdnuind | yg | 6,00 0,10 0,60
3 |PEwinG B15 nwuh, wntinwnpniiny g | 0,06 0,50 0,03
Pwdhl 1-4
‘Utipphl hwpnwpnid
1 |UpwutnwnGtph puwhwpenud jwynpuwl quigh pwnwiuny 02 | 494 0,98 48,44
2 |Urwuwnwnh ostthwdwsyned b Gtpyned wyphpwh abpyny §2 47,6 1,17 55,62
3 (Upwutwnh Stthwiwolynid 02 1,8 0,65 1,18
4 |Mwuwnhy Ywpunyh wrwutwnh hpwywbwgnid 62 1,8 2,48 4,46
\| 8 |®wjnk snpunt 50-30 d 1,2 3,03 3,64
g [Mwunhyhg wayniGwly A ) 6,0 0,23 1,38
7 |Mwuwntiph ujwnnud gh/wywquiht ujunny dGwn. gw&gh Jpw 62 | 124,9 1,61 200,91
8 |Mwuwbph stithwiwsynid L wyphiwiha Gepyned 62 | 1229 1,05 129,39
9 |Mwuwbph dbthwiwsh hwppbiglnn 2tpwn 2 2,0 0,54 1,08
10 |Mwwntiph ujwnntd ged/wdwquihb ujwnny dkwn. gwlgh Ypw §? 46,5 1,61 - 74,83
11 |Mwuwnbph pbuwwwnnid hwiudwuwiny 62 46,5 5,11 237,83
Pwdhb 1-5
Lwunwlyokp
1 Lwienwlylbph twy ghitGunwywquihl hwppliglnn 2tGpunh 2 23.0 1.21 27.80
wwinpwuwnntd 304d hwuwnntpjwl
2 |ubpwdngpwlhwnt uwihyotph hpwywlwgnid h=10ud 02 23,0 8,16 187,79
3 Lwinwlylbph tnwy gtukOwnw]wquiht hwpptglnn 2tpuinh 2 284 1.21 3433
wwitnpwuwnntd 3044 hwuwnntpjwl
4 |Qpuitiyntuwgnid 2 2Gpwn nwp phunudh dwéhyny 2 26,4 0,10 2,64
5 |<wunwylbph wwunpwuwnntd juigtiuwtpny, unuGdh Ypw 62 26,4 5,69 150,21
Pwdha 1-6
- NpGkp, Wwwnnthwabn, hnjuwp
x)/ ' ‘Ukipphl nelbp !
1 |Utunwnuwuywunb neitph wnbnwnpnid, pwgynn 2 9,10 31,25 284,38
2 |Utuhwnwwjwuwnt nrdbph wnbnwnpniy, spwgynn 62 0,24 15,75 3,78
MuwnnthwbObp 0,00
Ubtnwnwuwjwunb wwunnthwbtph wntiqnunpnud, pwgynn 2
1 9,59 23,19 222,39
ypYybuwpbipun wwwytithwpbpny a
5 Ubtnwnuwwjjwuint qucumnlhmﬁﬁhnh wnbnwnpntd, spwgynn 2 3,52 15,75 55,44
ypYhwytpunn wwwybthwpbpny ,
3 |Muwuwnnhy wwwnnthwkwgngtiph (b=30ud ) wpdtpp ) 9,5 2,55 24,23
4 |Mwwnnthwlwgngp uQLurlt[ npuhg gd/wywaquihl pwnwfuny §2 1,3 2,04 2,66
5 |Sknwnpt] wnnwwnt ytnwplbr hwuwn 12 0,23 2,77
6 gtggr&gthwﬁquqn swélt) npuh Ynnihg ghlywwuwin phptnny §2 15 119 1.79
4 |mwunthwbGoepht nbinwnpb gwig §? 45 3,46 15,57
‘ <nywp 0,00
1 |<nqwpp hpwhwGw gnid nupnutynia funnnywiyhg wn 0,093 95,75 8,63
2 |tunnnyuwly 50x25x3 D) 28,0 0,10 2,80
3 |chpunnwwnnujwun -30x3 d 6,52 0,32 2,10
4 |Ppwywlwgltl wnihywppniwwnt Epbuwwnid 02 5,0 0,10 0,50
5 |<nqwnh Gkpyned dnfupwgn) jninwltpyny 2 wogqwd 2 5,0 0,70 3,50




2 | 3 4 5 6
4 Pwdhb 1-7
. Spwdwwnwywpwpnid
1 Mnihwpnwhitiot fjunnnywyltph wnbnwnpnid ©25, § 12,0 2.36 2832
thnpdwpynuiny
2 ’ﬁn[hummthb[nb{ junnnywyltnh nnwnpnid ©20, 5 8,8 2.26 19,89
thnpdwpyniiny
3 | Mnjhwpnuhiblt fjunqndwybtph duwynp dwubp <D25—20 hwun 12 1,15 13,84
4 [lJwgwpwh énnwy hwun 2 6,61 13,22
5 |{lJwgwpwGh snpwly uwrlwpwGny hwun 3 13,63 40,90
Aynih junnndwy qniqupwlwynbph (ugiwl wnwywehyh
6 |hwiwp d=15, L=0.51 hutn | 1 173 1,73
7 |Qwywlh wbquigpnid DN15S hwwn 9 4,33 38,97
8 |<wiwywpgh (Ywgnud b wijutnwhwbnid ) 20,8 0,01 0,21
9 gzg;qnnwhlbﬁh fjunnnywyttinh rnhlt ghipdwdtyniuwgntd § 12,0 0,11 132
10 gr;lzhfpnmh[bﬁb funnnywytinh rbnhltb ghpdwdtiyniuwgnid § 8,8 0,02 0.18
UwwinGunwddiwh wluwunwOpltn
1 |Gpunt pwdwbdniGpny junhwGngwynOph wuwwdnlGunwdnid hwuwn 3 0,16 0,48
2 |LJwgwpwh érpwlyh wwwinGunwdnid hwn 3 . 0,16 0,48
3 |mnhwpnwhititt unnndwyatph wwwiniunwdnil ©25 ) 15,0 0,40 6,00
_4 [Ynjnuinnt junnnywyGtiph wwwinGunwdnid DN100 0] 10,0 0,10 1,00
T PwdhG 1-8
‘ 2pwhbrwgnid
~. [nnihtehiwihl  tunnnywyttiph Lnbrllurmmd ®=110, ptiuinhGb
! | ubiniihs onwtbpny thnpdwnynudng g | 100} 229 22,90
MnihtphiEOwhG  funnnywybtph wnbnwnpntd <D=50, nGunhOb
2 utinths onwlakpny thnpéwpyniiny d 15,5 1.21 18,76
Lwgwpwl uh$nlny U-un 3 12,34 37,01
4 2niqupwbwyntp php pnnwpyny gwén wnbnuwyw;pny (Ywugdwh Y-tn 1 16.30 16,30
wnwywrhyny
5 |UwywdnGunwddwd unhwlngwynbph ytpwwnbnwnpned Undyy| 2 3,53 7,06
6 |MnihtphitGwiha junnndwytph dLwynp dwubp d=11044d hwn 8 0,10 0,80
7 [mnyhtphitOwiht fjunnndwyttiph dbwynp dwubtip d=5044 hwun 16 0,10 1,60
8 |<nuwl d=5044 hwn 2 0,20 0,40
9 [apnibunh pwlnnid b 3,0 0,30 0,90
10 |Qpnilwnh htitnwnwnd, inthwanwing N 3,0 0,10 0,30
Pwdha 1-9
bGYunpwnidwihl uwppwynpnidGbp
1 Urjw wwywinbinwdywdé Gpwagnuiwihl pwyluhs yuhwOwyh nuy, 1 0,10 0,10
_ [dnGunwdnid
) Mwutniwut wnih wyjnndwn wlowwnhsny 3804, 32U hwun 11 7,18 7,18
3 |Uywnniwwn wlhowwnhs 3804, 32U hwuwn 2 6,02 12,05
4 Uwintju wnbdb. Qhr%bnnq dbyniuwgywsé § 25.0° 0.10 250
hwundwépp 5x604° BBR
5 [MniptphitGwha tGYuinpwintiuGhywywa gndpti funnnquy 32 ] 25,0 0,10 2,50
6 |Gpywpwywy dwntfulGbph wipwiwwiwl hwiwp hwuwn 25 0,01 0,29
7 |mnhtphittt viulywe 120x8044 d 4,0: 1,13 4,52
8 |chpnwynp wnnuwwun 40x4 nknwnpnuinyg d 30,0 0,10 3,00
9 |chpunwynp whinuwwn 25x4 intnwnpnuing d 15,0 0,20 3,00
10 {Mnnuwuwn wlyntbwiht 50x50x544, L=2.50 wntnwnpnidny hwun 6 0,10 0,60
11 {tupwdninnt pwlnnid hnnwlgdwl hwdwp 62 7.0 0,20 1,40
12 Uupwiinptitnnlt 26puinh pwlnnid hnnwOgdw( nbnwnniwh 5 0.80 0.10 0,08
hwdwp
13 |fupwininnt Eunihgp winthwinuinyg N 57 0,20 1,14
14 |ush Gwjuwwyiinpuunwyw( 2tpwn h=17ud §? 8,0' 0,10 0,80
15 {Uudp/pbinnlt swéynyph hpwlwbwgntd 8ud hwuwnnipjwl 62 8,0 0,10 0,80
16 |Uupwinpbinnlt YuinnpGbiph intinwihnfuntd 6 2,1 0,20 0,42




P teasiet -,

A 2 3 | 4 5 6
" Pwdha 1-10
FEYunpwlwb inuwynpnipni
Lntuwdnpnipiwl JwhwOwy GGpwbgnudwihG 3804 - 32U L
1 pwz]ugz 220[?4, 10L>l<25u wywnniwwn whowuwnhsbtipny Inwy. 1 44,25 44,25
thiuwinnt LED jwiwny 2
2 2904, 204un, pwiy. | 17 5,10 86,70
3 |Lnuwwnnt wewunwnwiht LED jwdwtpnyd 2204, 124wn thwy. 1 4,05 4,05
4 |tniuwnnt wrwunwnwihG LED jwdwbpny 1P64 2204, 204n Lpuy. 1 5,78 5,78
5 Lwnnpnwiwn um[lzdb, dtynuuwgyws, pwdwbhs hhdipnd, § 120,0 0,77 92.79
hwindwéon 3x400°  UUG
Zwnnpnwiwp wnbdt, deyntuwgyws, pwdwlhs hhipnd, .
6 huwndwépn 32500 Uy ¢ 300,0 0,48 144,00
7 |UGouinhs Shuwnbinwbh, nnuhny 2204, 6U hwuwn 1 1,18 1,18
8 |UlGguinhs EpyuinbinwiGh, ninwhny 2204, 6U hwuwn 4 1,25 5,01
Gpyplte fupngulyuwiht yupnwybbp, Gppnpn hnnwagdwh
9 hlzﬂfm ¥ 2';3 herh huwn| 20 | 1,35 27,00
10 Snith whwinhsltiph L fupngwyuwhl uipnwybtiph tnbnwnpdwd hua | 25 0,14 3,46
hwdwp :
11 |&jniqwynphs ninith hwwnn | 18 0,13 2,28
12 |6opwlywwy hwnnpnwjwph wipwlywuwdwt hwdwp hww | 1100 0,01 12,68
43 |Uynulbiph pugnud 20x40 ) 200,0 0,32 63,61
Uynubtiph thwynd 20x40 02 8,0 2,02 16,19
Pwdha 1-11
UwwidnGuvudynn uwppwynpnudObip ‘
1 [UbpwagnuiwhG pwofups JuwhwOwyh wwywdnbunwdntd 1pwy. 1 5,49 5,49
2 |Nidwihl Jwhwlwyh wwwinbunwdnid : pwy 1 1,57 1,67
3 |Lnwuwynpnipjut Jwhwiwy wywndwn wiownhsGbpny Lpwiy 3 1,57 4,71
4 |Lnwuwunnt jwdwyny ipwy | 12 0,76 ° 9,10
5 [tupngulwiht uwpnwy b waownhs wnnwhbpny Lpwy 12 0,09 1,09
Canwdiklp 3359,292
cwhnyp - 8% 268,743
Lonwoban 3628,035
UU<L-20% 725,607
Lanwdikan 4353,642
2wGathg"
. «HqursS» umne
e
ZiupnipynilywG SGonkl'/4
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Enbquwanph hwidwjupwybnwpw
U/ Upublu Qphgnpju
N 4au-t53-93Ucar-17/c16SL
16.10.2017p.

LUSUMNUYUL ULS N1

13 unjidpbpp 2017p.

IUUUSLELh TU3NFUSUL 16 A/R PLUYLLPSELEH SULhRh IPULULNMrNQUUL

uchuusuvevsrp
Uhwynph| Qnufwp
Wolnwwnwlph wudwund U [Lutw
2fu ph‘ Juwiinudp Yp wndbpn | g
h/h
1 Swuhph wupn2hdtinwihu dwdlyh pu 690 0.195 134.55
) pwunncd '
2 Swuhph gpenn funnnywlutph L dliwynp [ 100U | 0.65, 10.06 6.539
dwubinh" wwwdnuwnwdnd
3 Swuhph dtnUwnuwdnuinubph pwunnwd | hun 3 - 241 7.23
4 Swuhph thwjinjw Yupyuwuh, hud 8.3 24.04 199.532
dwtnuwynwintbph pwlnnud ‘
5 Swlhph Ywywpwdwsh pwunnid fud 4.3 24.04 103.372
6 Swlhph thwjunjw Swbnuwynuintiph W hud 9.97 204.28 | 2036.672
Ywpluwuh wwnpwuwnnud, inGnwnpnid
J |
! 7 |Qbnuwinuwdnintiph tnbnwnpnud hin 3 55.92 167.76
U/wjwuwn 2Gnpunwithtinytipny
8 Muinh thnnnwhbhph W phyh dwdln J 110 12.02 1322.2
ghuywwwin 0.5Ud fahptinhg 70uu
(wjuntpjwdp thwjnjw Uwqwnwmubng
_ Cnudkp : 3977.8546
dtpunhp dwhubp 13.3% 529.055
Cunudkup 4506.909
Cuhnyp 11% 495.760
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5002.669

Cupuklp

UU2 20% 1000.534
Cuguukup 6003.203
7310000:12364150=0.591225:

6003203*0.591225=3549243

Gupwlyw E ydwpdwl 3549243

Us. CunnLutg’

Up. 3wlisltkg®




l/i;umqhnwmm‘: bnbiquwanph hwdwjupwuwbnwpwi

/" Uwywwnnt Wa Upubku Sphgnpjut
/ Nuwydwlwghp' N 42U-63-Q3Usar-17/516SL
' 16.10.20173.

uusSurnU4UL U4S N2
13 nkjwbkdpbph 2017p.

JuUUSLEeh TUINFUSUL 16 /P APLUUELHKTELLP SULhLHh IhULULNMNQAUUL USluuSuLeLsrh

hwaq. nhwd
Upfuwnwiiph whdwhnug /U |ewtwyp| UMdneh | Fnuduip
2 P L L wpdtipp Hwd
h/h
1 Onwdhnpuntpjwl hnpwuutph 50ud fud 2.75 85.14 234.135
wybjwgned wnynLut 2unpywdpny
2 Swuhph swsyp KM -241-0.5 ghuljwujwn pdu 610 5,07 3090.9
rhptnhg thwjnjw Yulwpwywsny Utpwnjuwi ‘
gngungutipp W dtnuwnLuwdniinutpp
3 Ququiplwqgbh dwdly ghywwwwn phetnhg pu 25,96 0,92 23.87
200x200Ud swithuh
4 Mhw ghul/phptinhg 200x200UU /wndtpp/ u 64,9 1,91 124.11
5 Mnpuwih W ywnbph hwndwU hwndwsh pJ 20,6 3,05 62.74
gnhnpnwuh pwgyws swsly ghlywwwwn 0.5uUd
rhrbnny
6 Qnpnn unnnwyubph wnenwnpnud pwpt ywn 10 27,36 273.61
wwinbnh Ynw ghuywwwin phetinhg 6.8U
pwnapnLpjwdp ©=100Ud ‘
7  |®wjnk Ynuunpniyghwlbnh fud 9,97 10,31 102.79
hwywhnpnthwjhu jwpwwwinnd
8  |Unyup Yuwywnwdwdp 100u? 6,87 33,45 229.8
9 Chu wnph hwywpnud /dwulwyp/ W il 17,2 1,57 27.04
nGnwthnpunwd pwnabint hwdwn
10 |Thu twnph pwpénud W inknwithnfuncd 6Ud | wl 17.2 2.69 46.34
Clunikip | 4215.335
YEpunhp dwhukp 13.3% 560.640




Cunudkup

4775.975
Cuhnyp 11% 525.357
Cugukip 5301.332
UUZ 20% 1060.266

| Cguidkip 6361.598

6361598*0.591165=3760757




